ALK P E sk P E1108EE
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EERFGRIT | EEAT4RDL EERGIE  IEX4RIT

N L
1 4 5 %O 5 8
1 7 2 B O 11 33
1 11 5 %03, 2 12
1 18 5 #gOsE 10 10
1 22 5 GRO7R 5 1
1 26 7 o 1 30
1 38 27 FOE 8 21
1 39 7 HBOK 1 21
1 41 5 BOm®g 1 6
1 42 7 HMOZE 6 21
1 44 5 FOA& 6 4
1 45 | EOH 9 28
1 46 5 EO# 5 10
1 47 o EO 9 27
1 49 . HO% 6 27
1 50 7 MO 9 26
2 1 x© RO 7 30
2 2 B’8 B=OFE 7 23
2 3 /8 EO%E 9 24
2 5 % Z0E 1 12
2 7 % FRO B 11 13
2 8 7 BOE 8 28
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TRV A S
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mg | mmr o BR Tma e
2 9 5 ff] OF& 2 2
2 10 5 OB 2 4
2 11 B8 BFOZ 6 29
2 12 B BHO & 3 10
2 13 ) BROZE 10 4
2 14 B £ OHF 10 11
2 15 5 MOZ 6 7
2 16 4 0% 11 32
2 17 B =OMH 4 5
2 19 2! ZOR 2 5
2 20 7 FOR 7 33
2 21 B8 ZOEF 7 25
2 22 g8 BEOYE 9 29
2 25 7 BOfE 7 32
2 26 5 FOR 8 10
2 27 B8 O 1 29
2 28 5 Z0%& 1 1
2 31 B BOE 9 2
2 32 2z FEE O 0 8 26
2 35 5 ZEOH 10 1
2 36 5 200t 6 5
2 37 B BHQH 10 8
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N L
2 38 5 HBORE 8 6
2 39 5o BOf 1 11
2 41 5 HEOH 2 13
2 42 7 EOF 8 25
2 43 7 BO&k 11 26
2 44 7 RO 11 28
2 45 7 BEOYF 3 28
2 46 % #Ota 4 30
2 47 7 EROHE 4 31
2 48 7 MO 8 31
2 49 5 %O 9 7
2 50 5 O 7 7
3 1 %5 £ O gl 3 9
3 2 5 ZEOlk 8 7
3 3 3 BR O 7% 3 12
3 4 % FH O st 9 12
3 6 o EO% 10 22
3 7 7 EO 5 27
3 8 % %O 6 30
3 9 % ZOHF 5 31
3 10 7 BOX 10 30
3 11 . EOM 10 31
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meg om0 BE Tmat g
3 13 5 E O 1 3
3 14 5 HOE 7 4
3 15 5 o] Ol 8 4
3 16 5 =018 2 11
3 17 ¥ Z0E 8 9
3 19 % O 5 24
3 20 L8 FEOFE 2 22
3 22 % HOH 3 31
3 23 L8 ESOH 1 27
3 24 L'y ERO 1 28
3 25 7 = O 10 33
3 27 B MO 10 5
3 28 5 OB 9 10
3 29 5 2051 10 13
3 30 z FLO%E 2 21
3 31 7 BOF 11 25
3 32 7 BO= 4 25
3 33 L FO0= 8 27
3 34 7 MOZHE 7 29
3 35 7 FAO= 10 28
3 36 7 BO%E 2 27
3 37 5 NicA0): =] 6 9
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mg | mmr o BR Tma e
3 38 ) 42045 5 3
3 39 % O 1 4
3 40 5 HEO=F 2 6
3 41 B &0 4 11
3 42 B FEOTHE 2 8
3 43 5 KOiHE 8 12
3 44 B8 BEOLF 6 24
3 45 B8 =20 6 25
3 46 L8 F0= 9 25
3 47 B8 =0 2 33
3 48 7 8 QZE 10 26
3 49 7 O % 9 30
4 1 % BE O 10 6
4 2 5 HOW 5 7
4 3 B #OE 5 4
4 4 B 5 OB 6 8
4 8 7 ZOX 6 23
4 9 7 S Omh 2 23
4 11 B8 HO® 4 29
4 12 % HORE 7 27
4 13 2z F O 11 30
4 15 B8 fE O & 2 28
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g omm o0 R Tma
4 16 7 ¥EOEH 9 31
4 17 B HOX 9 6
4 18 5  ®RO&E 3 6
4 21 5 O = 4 13
4 22 B %02, 7 11
4 24 7 HO 5 21
4 25 7 HO&E 7 26
4 28 4 FmOH 3 29
4 29 4 BEO# 3 30
4 31 5 BR O 1 2
4 32 5 BEORE 7 1
4 33 5 “ORA 4 2
4 34 ez B O & 3 8
4 35 ==, FOFH 1 8
4 36 ®= SO 5 9
4 37 5 BO® 5 11
4 39 B FO%& 7 12
4 40 | #  BEO#F 5 23
4 41 7 2Z0x 5 26
4 42 7 O Hi 3 26
4 43 7 ZO%E 1 23
4 44 7 FHOE 10 24
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A L
4 46 & EOH 1 24
4 47 7 HOH 2 26
4 48 5 % O Fa 6 1
4 49 B O 9 4
4 50 %5 ESO 3 3 2
5 1 5o OB 4 6
5 3 5o &0 8 8
5 4 % % 0L 6 11
5 5 /8 20% 7 21
5 6 7 HOE 7 22
5 7 7 BOE 8 23
5 8 7 FOR 4 27
5 9 28 O 11 31
5 10 5B BE O 2% 6 3
5 11 5o O 3 1
5 12 o O 6 26
5 13 2 o 11 27
5 14 o O 11 29
5 15 7 BOom=E 3 32
5 16 B RO 4 3
5 17 5B FEOR 1 7
5 18 5 FORK 4 9
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g mag o BEA T g
5 19 5 FOo# 7 8
5 22 B8 F O 11 24
5 23 4 EOH 3 24
5 24 B8 B O& 6 32
5 25 7 20 2 32
5 26 5 ZOJT 7 3
5 27 B K OM 11 3
5 28 5 BHO%: 11 5
5 30 % O 3 1
5 31 B S051 11 11
5 32 B8 S0z 8 22
5 33 7 = O 9 22
5 35 L FE O Ff 2 29
5 36 5 ZEO#r 11 1
5 37 B EBOER 7 2
5 39 ) HORE 10 2
5 42 B EFEO&Z 9 8
5 44 3 BOE 9 1
5 45 7 205 11 21
5 46 B8 RO E 7 24
5 48 L'y HBOA 10 25
5 50 ) SWO4& 3 5
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g omm o0 R Tma
6 1 B RO 2 7
6 2 B B0k 11 8
6 3 = BHO=E 9 9
6 4 B EOoE 4 12
6 5 7 BEORE 4 21
6 6 7 #®Oo=% 11 22
6 7 % BRO 4 23
6 8 2z L ORg 7 28
6 9 /8 FHOH 10 29
6 10 I O 5 33
6 11 B KOs 7 5
6 12 Yol 4 8
6 13 B ¥ O 7 9
6 15 5 ®ORE 2 10
6 16 7 Ao 9 23
6 17 | BOE 4 22
6 18 7 BEOE 2 24
6 19 7 OB 1 26
6 21 o 20 3 7
6 24 7 BOMF 1 22
6 27 | BOL 10 23
6 28 7 O 1 25
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meg om0 BE Tmat g
6 29 5 EOH 8 2
6 30 5 EOH 5 2
6 31 5 O 8 11
6 32 5 FOE 9 1
6 33 5 MOZ 9 5
6 34 5 S0% 8 1
6 37 % HOR 8 3
6 38 ) EOR 11 4
6 39 5 B O BF 8 5
6 40 B JE Q% 11 10
6 41 B FOE 11 12
6 42 5 FO1= 5 13
6 43 7 HOYE 5 22
6 44 B8 EOE 4 26
6 46 7 S O0%F 8 29
6 47 7 =ORE 2 30
6 8 B OB 4 1
6 49 B BO¥H 6 >
6 50 5 ZEO:E 3 4
7 1 5 #OEF 5 6
7 2 B %O# 2 9
7 3 % KOE 5 12
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7 4 B RO 4 15
7 5 5 oM 7 13
7 6 4  #Oom 5 29
7 7 7 FZORE 5 30
7 8 B8 JFEOfE 4 32
7 9 2z H:O0% 10 32
7 10 5 S0% 11 2
7 11 B RO £E 9 3
7 12 B = O£ 10 3
7 13 5 =11e) 2 3
7 14 B HOE 11 7
7 15 B HOR 7 10
7 17 % BOW 3 21
7 18 7 BEOH 3 22
7 19 7 MO 10 21
7 20 7 BEOE 4 24
7 21 g8 ZO%F 8 30
7 22 B =OmHE 7 6
7 23 5 HOE 6 6
7 24 B HFOE 1 9
7 25 | ® oM 9 13
7 26 B 8 O 4 10
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mg | mmr o BR Tma e
7 28 % B0 6 28
7 29 2z A8 O 7 4 28
7 30 7 FR O fF 2 25
7 31 B8 ZOE 5 32
7 32 4 g0 > 31
7 33 5 #HO1{L 2 1
7 34 B 8O 3 3
7 36 o) KOFE 4 7
7 37 ) HOE 10 7
7 38 5 ZOHR 6 10
7 39 7 HEOHE 9 21
7 40 7 SO 11 23
7 41 g8 8 O R 3 27
7 42 g8 8 Q24 6 31
7 43 7 HOZE 1 31
7 44 % HOZ 9 33
7 45 7 HO%F 4 33
7 46 ) BEOEE 10 9
7 47 B8 B OZ& 7 31
7 48 | 4 WO 5 28
7 49 L'y O 5 8 24
7 50 B BORE 1 5
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meg om0 BE Tmat g
8 1 7 BOBE 10 27
8 2 % FROZE 10 12
8 6 7 Z0H 3 25
8 7 B8 S0# 9 32
8 8 % #®OmM 6 12
8 11 5 B O % 1 10
8 12 L8 kO % 6 22
8 13 5 ORE 5 14
8 14 B EORE 11 6
8 15 5 B8O #5 11 9

WEEl 5 MOM 5 5



